8 T MRE FHAUN (A9 2571 )
CHelr ME, &, %, $/kg
~o 251 20074 88 (Y24) 2007'4 8 (FA) SHE(EEH) SHE(FA) TECh |‘(‘r7=||)
=N s =4 s =4 | S| =% | S | 20064 | 2007H
A 1,143,255 225,600 9,026,620 1,792,527 4.7 1.6 3.0 1.8 4.97 5.04
1 il 238,500 37,559 1,899,929 314,241 0.2-12.0) -0.5( -7.9 5.60 6.05
2 o= 146,118 28,177 1,187,111 241 121} -14 1 -8.5| —-12.7 -3.6 5.44 4.92
3 H E = 88,239 12,868 676,101 94,738 47.3 35.2 19.8 12.2 6.69 7.14
4 =23 73,285 12,730] 603,684 96,872 8.6 16.0 10.3 10.6 6.25 6.23
5 2l =L Alot 63,349 8,844 514,253 75,564 9.8 3.1 7.7 7.6 6.80 6.81
6 U= 49,724 7,925 435,938 64,526 -6.1 -3.41 -1.3 0.7 6.89 6.76
7 otZfoflo|2| E gt 36,367 5,964 238,012 42,201) 21.6 18.0 5.7 7.8 5.75 5.64
8 AL C|ot2tH| o} 28,025 4,730] 192,573 32,787 13.5 241 3.5 4.3 5.92 5.87
9 =2 25,087 5,824 185,717 45,703] 39.6 31.0 34.9 31.0 3.95 4.06
10 B 7| 24,355 4,313 176,440 33,3501 15.5 0.4 18.4| -6.2 4.19 5.29
11 el H 13,497 3,351 166,899 34,560I -39.5| -18.8] -15.0| -1.3 5.61 4.83
12 THE| 22} 12,062 1,816 134,734 20,350I -38.4 | —-48.4 ) -27.9 | —-33.8 6.08 6.62
13 oA 14,377 1,847 126,849 15,6141 31.1 -4.4 51.3 49.5 8.02 8.12
14 geid 18,505 4,036 125,873 28,594 65.5 56.7 60.6 28.6 3.52 4.40
15 O| &fz2| ot 15,256 3,214 117,281 27,357 13.0 -7.4 14.2 18.9 4.46 4.29
16 = 16,068 4,208 107,338 28,351 17.2 31.8 17.6 17.3 3.78 3.79
17 Zt=Clot 14,113 5,123 105,409 42,297 41.8 29.3 46.4 14.8 1.95 2.49
18 Ef = 12,527 2,828 103,220 22,977 4.7 8.4 6.3 16.5 4.92 4.49
19 S{Alof o4t 12,936 3,730] 94,956 29,5901 12.8 2.1 7.7 3.3 3.08 3.21
20 A0 2l 11,944 2,795 88,413 22,461] 24.9 -9.4 24.2 8.1 3.43 3.94
21 HAlZ 12,861 3,424 86,716 22,314 27.7 40.7 5.6 1.9 3.75 3.89
22 =2 Al 8,476 1,238 81,559 13,4421 -7.5| -30.0] -14.8 | -17.0 5.91 6.07
23 Fttct 9,682 2,095 80,619 16,2971 -18.8 | -2.7] -10.1 | -18.5 4.48 4.95
24 CH ot 8,861 1,955 80,468 18,4571 -23.2 | -25.2 | -16.6 | —23.1 4.02 4.36
25 elCiok(elx) 10,583 4,220] 79,768 33,642 -13.2 | -12.3] -5.3| -9.4 2.27 2.37




o 20074 sl (2hg) 20074 8 (+H) SUE(8E) SHE(A) FAeIHEA)
= = e B o B 2o zz | 2o | == | 2006 | 20074
e 856,702 | 122,621 5,646,326 | 943,365 11.1 24 123 6.2 5.66 5.99
1 =32 545,971 73,005| 3,473,830 | 543,141 17.0 76| 185 118 6.04 6.40
> NEST 60,956 751 352,185 5,137 33| -11.3] 89| —228| 4862 | 6856
3 o= 36,067 4,594 287,169 40,945 71| -82| o023 3.2 721 7.01
4 ol =L Al of 02,878 7100] 180,118 62,084 30| -11.7] 47 4.9 > 87 086
5 | elciokelE) 22,553 6,711 161,119 51,314 78| -13.8|-13.9] -145 3.12 3.14
6 o= 22,389 0 448 158,645 18,921 155 116| 63| 148 9.06 8.38
7 | ot 03,382 7,046 152,126 48,231 425| 418| 353] 306 3.04 3.15
8 cHat 12 327 4,855 113,798 50,843 35| -107| 3.7 22 2 21 224
9 e 8,431 1,054 78,959 20,108 89| -162| —92| -6.2 4.06 3.93
10 a}7| AEH 7,063 3,245 70,344 32201 | -26.4| -27.4|-17.4| -19.1 214 218
11 ETTSN 8,631 85 65,426 978 | —19.2| —203|-14.9 6.1 8338 | 66.89
12 S 7,914 708 53,438 4,892 32| 158 92 69l 1070 | 10.92
13 = E 7336 795 50,113 4,720 28 o1 -75] -298 8.06 | 10.62
14 @A Ealo} 5,859 1,949 45,384 15,851 21| 30 254] 2209 280 086
15 == 7 364 231 37,448 1327 | —102| -22|-132| 204 2587 | 2820
16 arzf o] x| of 4,599 1,402 30,788 8,774 19.9 o7l 40| 151 > 86 3.51
17 £{7| 4,978 337 29,619 1,843 32| o274 75 70| 1598 | 16.07
18 NEES 3,799 219 27,018 1013 | —171| -33.4| 127 200 1504 | 1413
19 SR 3,931 273 20,389 1623 | 1007 668 804| sa2| 1074 | 1256
20 shiict 3,007 508 19,681 3,240 142] 169 23 4.3 6.20 6.08
21 o| oko} > 805 200| 16,433 1,289 349| 208l 645| 04| 1165 1275
20 ENE 2,053 78 16,322 855 455| -121| 274 -96| 1353 | 19.08
23 ~QA 2 489 68 15,907 267 46.6| 499| -6.5| -s02| 31.72 | 5953
24 ~ ol 2 422 107 13,196 778 12| 405 -26.0| -408| 1152 16.07
25 XS 1,608 120} 12,791 1131 34| -325| 173 99l 1059 | 11.31




